[bookmark: _Hlk15403792]13.	Which one of the following components of aggregate expenditure is the most unstable?
(a) 	Private investment expenditure
(b) 	Private consumption expenditure
(c) 	Government investment expenditure
(d) 	Government consumption expenditure

14. 	If the marginal propensity to consume is very close to zero, then the multiplier 
(a) 	is very close to zero.
(b) 	is very close to one.
(c) 	is very large.
(d) 	cannot be calculated.

15. 	An income tax cut ________ aggregate demand and ________ aggregate supply.
(a) 	increases; increases
(b) 	increases; decreases
(c) 	decreases; increases
(d) 	decreases; decreases
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(b)	Using the aggregate demand/aggregate supply (AD/AS) model, explain how an increase in Australia’s terms of trade could cause a business cycle expansion.  	(10 marks)
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19.

20.

Al other things being equal, which of the following events would cause an economy’s
aggregate supply curve to shift to the left?

(a)  anincrease in wage rates

(b)  anincrease in imports

() anincrease in exports

(d)  anincrease in labour productivity

Which of the following is likely to occur if aggregate demand grows at a faster rate than
aggregate supply in an economy close to full capacity?

(a)  There will be no change in the output or price levels.

(b)  The output level and the price level will both increase at the same rate.
() The price level will rise at a quicker rate than the output level

(d)  The output level will rise at a quicker rate than the price level
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Question 27 (continued)

(@) Using the aggregate demand and aggregate supply (AD/AS) model, demonstrate and
explain how an improvement in productivity can assist the govemment in achieving
economic growth, low inflation and full employment (5 marks)
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(b)

Using the aggregate demand and aggregate supply (AD/AS) model, demonstrate and
explain the likely impact on the Australian economy of each of the following events:

() aChinese economic recession

(i) @ sustained rise in Australian labour productivity. (10 marks)




